#H1 3%

(1) HBRBRERER (T13-1)

ABR IR A

a— — ($HI2EE)
IS& 55 _
E % T | Ol | el
' R WETR | B0 | (EmsE | oo
AR | PRE%)

A 231 - - - 34

= _ _ Z _ —

ﬂﬁ F 2R 231 - - - 34
g | BERDEXABE 62 - - - 51
® B - - - - -
0 231 - - - o4
CEEXE - - - - 149

B A E BELYRE - - - - -
%{% £ 0 i - - Z - 2
o CEEXE - . - - 6

BE Rz BELERE - . - - 3
T oM - . - - -

- RRE - - - - -

- HIViLERE - - _ _ 29

ryr BEREAE . = - - 2

T oM - . - - -

Eg‘; EL¥ R B . - . - -
RE RBE R—R% - = - - -
x = EY Y. - . - - -

" = z o1 - - - - -
EEFHRE | L B - . - - -

z o 18 . - - - -

HERELER2(T13—1-2)

AR IEEREE SHETH)

I2& 58 _

% THH | ZOB | remn

'R wETH | o | (EmsmE | Tip
AREE | FHE)

METRE = - - - -

K- FK BEL¥BE - - - - -

X EWMERSE - . - - -
B TEEX XS - . - - -
& RAERX mreas = - - - -
B [Tavkagesk MEFRE - - . - 3
Kism% BELEERE - - - - 36

ER AR E - - . - -
EXDBEGBRS - - - - =5
ERBILD - . - - -

X & B M m - . - - -

z 0ot - . - - -

= A% & - - - - 225
E: Ak AE~VEEDER - _ _ = —
a} z 0 fi _ - - - - -
E | Dpospe (oE RARS - - - - Z

B #kE £d

® z ot . - - - 37
# [ &= - - . - .
E B @ - Z - - -
E & - - - - -
TH-ER - - - - -

zZ oM - - - - -

z o ft - . - . .




2 REERREBERIA(T13—2)

(24 EE)
X ® A B E # B
& & 1T B
ol BEfH ®E B& X E BE- " 5 BhE
Z0fth Ot
WwEE |HBEEF WwRE EME  |EhE BRE
SH24EE 338 16 188 17 10 17 - 60 30
SMTEE 1,232 97 805 43 7 172 - 73 35
R30S 1,184 51 908 48 5 83 - 58 31
FRL204EBF 1,161 89 878 16 11 78 - 62 27
FRL284EF 1,123 97 829 23 9 59 - 79 27
3 BRFERERBERR
(M EHEERTIZ—3)
(24 )
R 4 oA E-nn%E B & %
SEH HEE BEE | ¥R | B & | #KHK | 53Y | Toit
QHM24FE 4 45 9 6 64 - 25 -
{MTEE 13 22 20 31 10 - 99 -
AL 304 FE 8 29 5 24 3 - 27 -
AL 204 FE 9 20 - 42 1 - 51 -
AL 284 FE 18 10 29 39 19 - 79 -
ChHEEEMELST.
(2)ERSHRE(T13—4)
(HF24EE)
B 4 SM25E SMaEE ERI0EE ERR295E ERE284E B
s FEH s FEH i ¢ FEH i ¢ FEH x4 FEH
LN 3 H{LF - - - - - - - - - -
(4FEL- TP - FLERE A - # B = = - - - - - - - -
LA - SERETL) Z Dt = = - - - - - - - -
H{LF - - - - 30 - 27 - 28 -
r B2 B 4 o B & @& 6 - 32| x 1 92 - 47| % 2 50| X 1
Z Dt = = - - - - - - - -
T D b H{LF 31 - 27 - - - - - - -
(5EFEY-RLEBLIEVSE) # B = = - - - - - - - -
ZDit = = 29 - 30 - 32 - 28 -
H{LF 31 - 27 - 30 - 27 - 28 -
# L1 # B 6 = 32| % 1 92 - 47| % 2 50| 1
ZDit = = 29 - 30 - 32 - 28 -

X TEPBBLREERE] BV TARE




